

## Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

**Project Name: East Los Angeles Community Roadway Improvement** 

Project ID: RDC0016147

Rids Opened: 4/12/2022

Bids Opened: 4/12/2022 Project Manager: Robert Vitug n/a

			Engineer's Estimate		(1) Excel Paving Company		(2) Toro Enterprises, Inc.		(3) Sully-Miller Contracting Company		(4) All American Asphalt		
(1) Preliminary Bid Amount					\$9,634,240.74		\$9,692,759.07		\$9,780,000.00		\$9,984,768.53		
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	8	\$500.00	MTH	\$4,000.00	\$500.00	\$4,000.00	\$500.00	\$4,000.00	\$500.00	\$4,000.00	\$500.00	\$4,000.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	PREPARATION OF THE SWPPP (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
5	IMPLEMENTATION OF THE SWPPP	1	\$55,000.00	LS	\$55,000.00	\$23,000.00	\$23,000.00	\$53,525.00	\$53,525.00	\$200,000.00	\$200,000.00	\$45,000.00	\$45,000.00
6	OFFICE FACILITIES	9	\$4,000.00	MTH	\$36,000.00	\$2,600.00	\$23,400.00	\$8,710.00	\$78,390.00	\$12,500.00	\$112,500.00	\$4,000.00	\$36,000.00
7	CITY PERMIT AND INSPECTION FEES (ALLOWANCE OF \$10,000)	10000	\$1.00	AL	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
8	MOBILIZATION	1	\$331,796.00	LS	\$331,796.00	\$945,000.00	\$945,000.00	\$540,860.00	\$540,860.00	\$910,166.50	\$910,166.50	\$490,000.00	\$490,000.00
9	TREE REMOVAL (13"-24" DIAMETER)	4	\$1,250.00	EA	\$5,000.00	\$3,000.00	\$12,000.00	\$2,120.00	\$8,480.00	\$2,000.00	\$8,000.00	\$2,100.00	\$8,400.00
10	TREE REMOVAL (25"+ DIAMETER)	4	\$1,500.00	EA	\$6,000.00	\$6,000.00	\$24,000.00	\$2,652.00	\$10,608.00	\$2,500.00	\$10,000.00	\$2,600.00	\$10,400.00
11	CROWN RÉDUCTION W/ ROOT PRUNING, TREE (25" + DIAMETER)	2	\$1,000.00	EA	\$2,000.00	\$950.00	\$1,900.00	\$1,590.00	\$3,180.00	\$1,500.00	\$3,000.00	\$1,600.00	\$3,200.00

Project ID: RDC0016147 Bids Opened: 4/12/2022 Project Manager: Robert Vitug n/a

			Engineer's Estimate (1) Excel Paving Company		(2) Toro Enterprises, Inc.		(3) Sully-Miller Contracting Company		(4) All American Asphalt				
(1) Pre	eliminary Bid Amount			\$9,634,240.74			;	\$9,692,759.07	\$9,780,000.00		\$9,984,768.53		
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	<b>Unit Price</b>	<u>Unit</u>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>
12	RELOCATE EXISTING CHAIN LINK FENCE	73	\$25.00	LF	\$1,825.00	\$150.00	\$10,950.00	\$155.00	\$11,315.00	\$155.00	\$11,315.00	\$155.00	\$11,315.00
13	REMOVE EXISTING CHAIN LINK FENCE	51	\$20.00	LF	\$1,020.00	\$47.00	\$2,397.00	\$49.00	\$2,499.00	\$50.00	\$2,550.00	\$50.00	\$2,550.00
14	REMOVE EXISTING TUBULAR STEEL FENCE	156	\$30.00	LF	\$4,680.00	\$22.00	\$3,432.00	\$22.30	\$3,478.80	\$25.00	\$3,900.00	\$25.00	\$3,900.00
15	CONCRETE REMOVAL (NON- REINFORCED)	3141	\$100.00	CY	\$314,100.00	\$200.00	\$628,200.00	\$197.45	\$620,190.45	\$137.00	\$430,317.00	\$220.00	\$691,020.00
16	CONCRETE REMOVAL (REINFORCED)	8	\$250.00	CY	\$2,000.00	\$400.00	\$3,200.00	\$310.10	\$2,480.80	\$200.00	\$1,600.00	\$655.00	\$5,240.00
17	UNCLASSIFIED EXCAVATION	4651	\$90.00	CY	\$418,590.00	\$135.00	\$627,885.00	\$181.80	\$845,551.80	\$130.00	\$604,630.00	\$130.00	\$604,630.00
18	CRUSHED MISCELLANEOUS BASE	4751	\$90.00	CY	\$427,590.00	\$120.00	\$570,120.00	\$111.60	\$530,211.60	\$100.00	\$475,100.00	\$150.00	\$712,650.00
19	COLD MILL AC PAVEMENT (0 - 2")	131437	\$0.35	SF	\$46,002.95	\$0.31	\$40,745.47	\$0.32	\$42,059.84	\$0.45	\$59,146.65	\$1.04	\$136,694.48
20	COLD MILL AC PAVEMENT (2" - 3")	1422410	\$0.25	SF	\$355,602.50	\$0.43	\$611,636.30	\$0.44	\$625,860.40	\$0.45	\$640,084.50	\$0.29	\$412,498.90
21	GRIND PCC PAVEMENT	77302	\$0.65	SF	\$50,246.30	\$1.00	\$77,302.00	\$1.10	\$85,032.20	\$1.50	\$115,953.00	\$2.20	\$170,064.40
22	AC PAVEMENT	643	\$125.00	TON	\$80,375.00	\$110.00	\$70,730.00	\$187.50	\$120,562.50	\$125.00	\$80,375.00	\$240.00	\$154,320.00
23	AC PAVEMENT(PATCH BACK)	1008	\$140.00	TON	\$141,120.00	\$200.00	\$201,600.00	\$313.00	\$315,504.00	\$200.00	\$201,600.00	\$370.00	\$372,960.00
24	AC PAVEMENT(DRIVEWAYS)	4	\$350.00	TON	\$1,400.00	\$400.00	\$1,600.00	\$450.50	\$1,802.00	\$700.00	\$2,800.00	\$3,740.00	\$14,960.00
25	RECONSTRUCT MANHOLE	10	\$2,000.00	EA	\$20,000.00	\$2,500.00	\$25,000.00	\$2,035.00	\$20,350.00	\$2,825.00	\$28,250.00	\$2,370.00	\$23,700.00
26	DOUBLE ADJUST MANHOLE	70	\$1,500.00	EA	\$105,000.00	\$780.00	\$54,600.00	\$815.00	\$57,050.00	\$985.00	\$68,950.00	\$1,160.00	\$81,200.00
27	PCC PAVEMENT	310	\$360.00	CY	\$111,600.00	\$600.00	\$186,000.00	\$446.75	\$138,492.50	\$285.00	\$88,350.00	\$490.00	\$151,900.00
28	PCC CROSSWALK PER DETAIL G, SHEET 11	8	\$600.00	CY	\$4,800.00	\$1,200.00	\$9,600.00	\$794.30	\$6,354.40	\$1,250.00	\$10,000.00	\$1,350.00	\$10,800.00
29	ASPHALT RUBBER AND AGGREGATE MEMBRANE	61643	\$5.75	SY	\$354,447.25	\$7.00	\$431,501.00	\$7.00	\$431,501.00	\$8.75	\$539,376.25	\$7.75	\$477,733.25
30	PMAC PAVEMENT	18979	\$85.00	TON	\$1,613,215.00	\$112.00	\$2,125,648.00	\$118.40	\$2,247,113.60	\$125.00	\$2,372,375.00	\$114.00	\$2,163,606.00
31	PMAC PAVEMENT (TEST STRIP)	1000	\$85.00	TON	\$85,000.00	\$120.00	\$120,000.00	\$126.20	\$126,200.00	\$130.00	\$130,000.00	\$165.00	\$165,000.00
32	7/8" NOMINAL BEDDING SAND	56	\$3.50	SF	\$196.00	\$5.00	\$280.00	\$5.95	\$333.20	\$10.00	\$560.00	\$8.00	\$448.00

Project ID: RDC0016147 Bids Opened: 4/12/2022 Project Manager: Robert Vitug n/a

				Engine	eer's Estimate	(1) Excel Paving Company		(2) Toro Enterprises, Inc.		(3) Sully-Miller Contracting Company		(4) All Ame	rican Asphalt
(1) Pro	eliminary Bid Amount					\$	9,634,240.74	\$	9,692,759.07	\$	9,780,000.00	\$	9,984,768.53
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
33	4" CONCRETE BASE UNDER PAVERS	60	\$10.00	SF	\$600.00	\$14.00	\$840.00	\$13.70	\$822.00	\$25.00	\$1,500.00	\$10.00	\$600.00
34	CURB DRAIN PER STD PLAN 150, N=1, CASE 3 INLET	16	\$1,975.00	EA	\$31,600.00	\$500.00	\$8,000.00	\$855.00	\$13,680.00	\$350.00	\$5,600.00	\$1,050.00	\$16,800.00
35	CURB DRAIN PER STD PLAN 150, N=2, CASE 3 INLET	2	\$2,075.00	EA	\$4,150.00	\$600.00	\$1,200.00	\$1,867.00	\$3,734.00	\$500.00	\$1,000.00	\$1,500.00	\$3,000.00
36	CONCRETE SLOUGH WALL	1	\$2,000.00	CY	\$2,000.00	\$6,000.00	\$6,000.00	\$6,010.00	\$6,010.00	\$6,500.00	\$6,500.00	\$4,500.00	\$4,500.00
37	PCC CURB, TYPE A1-8	437	\$20.00	LF	\$8,740.00	\$36.00	\$15,732.00	\$29.50	\$12,891.50	\$50.00	\$21,850.00	\$20.00	\$8,740.00
38	PCC CURB, TYPE A1-VAR	516	\$20.00	LF	\$10,320.00	\$36.00	\$18,576.00	\$29.65	\$15,299.40	\$45.00	\$23,220.00	\$22.00	\$11,352.00
39	PCC CURB & GUTTER, TYPE A2-6	469	\$35.00	LF	\$16,415.00	\$47.00	\$22,043.00	\$38.60	\$18,103.40	\$55.00	\$25,795.00	\$35.00	\$16,415.00
40	PCC CURB & GUTTER, TYPE A2-8	2158	\$35.00	LF	\$75,530.00	\$48.00	\$103,584.00	\$43.85	\$94,628.30	\$45.00	\$97,110.00	\$36.00	\$77,688.00
41	PCC CURB & GUTTER, TYPE A2-VAR	3744	\$35.00	LF	\$131,040.00	\$49.00	\$183,456.00	\$43.65	\$163,425.60	\$65.00	\$243,360.00	\$40.00	\$149,760.00
42	PCC CURB & GUTTER, TYPE A2-VAR, W=VAR	25	\$35.00	LF	\$875.00	\$65.00	\$1,625.00	\$49.90	\$1,247.50	\$105.00	\$2,625.00	\$125.00	\$3,125.00
43	RECONSTRUCT LOCAL DEPRESSION PER STD PLAN 313-3 CASE E	3	\$1,870.00	EA	\$5,610.00	\$3,000.00	\$9,000.00	\$510.00	\$1,530.00	\$2,500.00	\$7,500.00	\$3,200.00	\$9,600.00
44	PCC WALK, 4" THICK	40585	\$7.00	SF	\$284,095.00	\$10.00	\$405,850.00	\$8.00	\$324,680.00	\$7.00	\$284,095.00	\$8.00	\$324,680.00
45	PCC CURB RAMPS	461	\$580.00	CY	\$267,380.00	\$1,200.00	\$553,200.00	\$645.00	\$297,345.00	\$950.00	\$437,950.00	\$900.00	\$414,900.00
46	PCC DRIVEWAYS, 6" THICK	1697	\$10.00	SF	\$16,970.00	\$13.00	\$22,061.00	\$11.05	\$18,751.85	\$15.00	\$25,455.00	\$11.00	\$18,667.00
47	DETECTABLE WARNING SURFACE	3742	\$42.00	SF	\$157,164.00	\$40.00	\$149,680.00	\$36.00	\$134,712.00	\$35.00	\$130,970.00	\$55.00	\$205,810.00
48	CROSS GUTTER	121	\$295.00	CY	\$35,695.00	\$700.00	\$84,700.00	\$532.00	\$64,372.00	\$400.00	\$48,400.00	\$490.00	\$59,290.00
49	CROSS GUTTER (MOD)	143	\$295.00	CY	\$42,185.00	\$700.00	\$100,100.00	\$530.00	\$75,790.00	\$400.00	\$57,200.00	\$490.00	\$70,070.00
50	SALVAGE AND RECONSTRUCT EXISTING BRICK PAVERS PER DET H, SHT 12	1	\$2,500.00	LS	\$2,500.00	\$9,600.00	\$9,600.00	\$3,815.00	\$3,815.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
51	METAL HAND RAILINGS PER STD PLAN 606, TYPE C	270	\$170.00	LF	\$45,900.00	\$420.00	\$113,400.00	\$432.00	\$116,640.00	\$420.00	\$113,400.00	\$430.00	\$116,100.00
52	CHAIN LINK FENCE, 3' HIGH	20	\$50.00	LF	\$1,000.00	\$183.00	\$3,660.00	\$188.00	\$3,760.00	\$185.00	\$3,700.00	\$200.00	\$4,000.00

Project ID: RDC0016147 Bids Opened: 4/12/2022 Project Manager: Robert Vitug n/a

				Engineer's Estimate		(1) Excel Paving Company		(2) Toro Enterprises, Inc.		(3) Sully-Miller Contracting Company		(4) All Ame	rican Asphalt
(1) Preliminary Bid Amount		\$9,634,24		9,634,240.74	\$9,692,759.07		\$9,780,000.00		\$9,984,768.53				
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
53	CHAIN LINK FENCE, 6' HIGH	125	\$50.00	LF	\$6,250.00	\$162.00	\$20,250.00	\$166.00	\$20,750.00	\$165.00	\$20,625.00	\$165.00	\$20,625.00
54	TUBULAR STEEL FENCE	34	\$200.00	LF	\$6,800.00	\$420.00	\$14,280.00	\$432.00	\$14,688.00	\$420.00	\$14,280.00	\$450.00	\$15,300.00
55	ADJUST PULL BOX	113	\$250.00	EA	\$28,250.00	\$500.00	\$56,500.00	\$615.00	\$69,495.00	\$400.00	\$45,200.00	\$525.00	\$59,325.00
56	RELOCATE PULL BOX	57	\$300.00	EA	\$17,100.00	\$3,000.00	\$171,000.00	\$3,185.00	\$181,545.00	\$2,500.00	\$142,500.00	\$3,160.00	\$180,120.00
57	EXPLORATORY EXCAVATION OF UTILITIES (ALLOWANCE OF \$10,000)	10000	\$1.00	AL	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
58	3" CONDUIT (SCH 80 PVC)	82	\$45.00	LF	\$3,690.00	\$90.00	\$7,380.00	\$95.50	\$7,831.00	\$100.00	\$8,200.00	\$95.00	\$7,790.00
59	2-PAIR DETECTOR LEAD-IN CABLE	582	\$2.00	LF	\$1,164.00	\$3.00	\$1,746.00	\$2.65	\$1,542.30	\$4.00	\$2,328.00	\$3.00	\$1,746.00
60	5-CONDUCTOR SIGNAL CABLE(EXCLUDING CONDUIT)	55	\$5.50	LF	\$302.50	\$5.00	\$275.00	\$5.30	\$291.50	\$7.00	\$385.00	\$6.00	\$330.00
61	#14 AWG SINGLE CONDUCTOR	567	\$1.40	LF	\$793.80	\$2.00	\$1,134.00	\$2.10	\$1,190.70	\$5.00	\$2,835.00	\$2.50	\$1,417.50
62	COMPOSITE TYPE 3 PULL BOX INCL COVER	2	\$1,400.00	EA	\$2,800.00	\$1,300.00	\$2,600.00	\$1,380.00	\$2,760.00	\$800.00	\$1,600.00	\$1,400.00	\$2,800.00
63	INDUCTIVE LOOP DETECTOR AND LEADS SAW CUT	19248	\$11.00	LF	\$211,728.00	\$11.00	\$211,728.00	\$9.00	\$173,232.00	\$16.50	\$317,592.00	\$11.00	\$211,728.00
64	3-12" LED VEHICLE HEAD (COMPLETE)	3	\$1,000.00	EA	\$3,000.00	\$1,200.00	\$3,600.00	\$1,273.00	\$3,819.00	\$1,500.00	\$4,500.00	\$1,265.00	\$3,795.00
65	RECONFIG VIDEO DETECTION ZONE - 1 CAMERA	4	\$1,200.00	EA	\$4,800.00	\$1,300.00	\$5,200.00	\$1,380.00	\$5,520.00	\$1,500.00	\$6,000.00	\$1,370.00	\$5,480.00
66	SALVAGE EQUIPMENT	1	\$3,000.00	LS	\$3,000.00	\$1,000.00	\$1,000.00	\$1,065.00	\$1,065.00	\$10,000.00	\$10,000.00	\$1,050.00	\$1,050.00
67	INSTALL FIRE HYDRANT LOCATION RPM	19	\$15.00	EA	\$285.00	\$15.00	\$285.00	\$12.40	\$235.60	\$20.00	\$380.00	\$16.00	\$304.00
68	DETAIL 9 (THERMOPLASTIC)	22402	\$1.40	LF	\$31,362.80	\$0.42	\$9,408.84	\$0.57	\$12,769.14	\$0.45	\$10,080.90	\$0.45	\$10,080.90
69	DETAIL 22 (THERMOPLASTIC)	12632	\$1.75	LF	\$22,106.00	\$0.95	\$12,000.40	\$1.55	\$19,579.60	\$1.00	\$12,632.00	\$1.00	\$12,632.00
70	DETAIL 24 (THERMOPLASTIC)	200	\$2.40	LF	\$480.00	\$0.55	\$110.00	\$0.78	\$156.00	\$0.55	\$110.00	\$0.60	\$120.00

Project ID: RDC0016147 Bids Opened: 4/12/2022 Project Manager: Robert Vitug n/a

			Engineer's Estimate		(1) Excel Paving Company		(2) Toro Enterprises, Inc.		(3) Sully-Miller Contracting Company		(4) All American Asphalt		
(1) Pre	eliminary Bid Amount					\$9	9,634,240.74	\$9,692,759.07		\$9,780,000.00		\$9	9,984,768.53
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
71	DETAIL 27B (THERMOPLASTIC)	338	\$1.10	LF	\$371.80	\$0.55	\$185.90	\$0.81	\$273.78	\$0.55	\$185.90	\$0.60	\$202.80
72	DETAIL 29 (THERMOPLASTIC)	2605	\$1.62	LF	\$4,220.10	\$1.90	\$4,949.50	\$2.33	\$6,069.65	\$1.90	\$4,949.50	\$2.00	\$5,210.00
73	DETAIL 32 (THERMOPLASTIC)	3606	\$2.76	LF	\$9,952.56	\$1.90	\$6,851.40	\$1.79	\$6,454.74	\$1.90	\$6,851.40	\$2.00	\$7,212.00
74	DETAIL 38A (THERMOPLASTIC)	7249	\$1.50	LF	\$10,873.50	\$2.17	\$15,730.33	\$1.34	\$9,713.66	\$2.20	\$15,947.80	\$2.30	\$16,672.70
75	INSTALL DETAIL 39A MODIFIED (4' LINE WITH 4' SKIP) (THERMOPLASTIC)	390	\$0.75	LF	\$292.50	\$3.00	\$1,170.00	\$2.59	\$1,010.10	\$3.00	\$1,170.00	\$3.15	\$1,228.50
76	DETAIL 40 (THERMOPLASTIC)	55	\$1.25	LF	\$68.75	\$3.00	\$165.00	\$0.70	\$38.50	\$3.00	\$165.00	\$3.15	\$173.25
77	4" STRIPING (THERMOPLASTIC)	14266	\$1.40	LF	\$19,972.40	\$0.55	\$7,846.30	\$0.81	\$11,555.46	\$0.55	\$7,846.30	\$0.60	\$8,559.60
78	4" YELLOW STRIPING (THERMOPLASTIC)	16	\$1.00	LF	\$16.00	\$0.55	\$8.80	\$0.88	\$14.08	\$0.55	\$8.80	\$0.60	\$9.60
79	12" STRIPING (THERMOPLASTIC)	7698	\$3.85	LF	\$29,637.30	\$2.05	\$15,780.90	\$3.40	\$26,173.20	\$2.05	\$15,780.90	\$2.15	\$16,550.70
80	12" WHITE CHEVRON STRIPING (THERMOPLASTIC)	44	\$3.85	LF	\$169.40	\$3.00	\$132.00	\$3.49	\$153.56	\$3.00	\$132.00	\$3.15	\$138.60
81	12" YELLOW DIAGONAL STRIPING (THERMOPLASTIC)	247	\$3.85	LF	\$950.95	\$3.00	\$741.00	\$3.32	\$820.04	\$3.00	\$741.00	\$3.15	\$778.05
82	24" STRIPING (THERMOPLASTIC)	17434	\$6.60	LF	\$115,064.40	\$4.10	\$71,479.40	\$5.21	\$90,831.14	\$4.10	\$71,479.40	\$4.30	\$74,966.20
83	24" YELLOW STRIPING (THERMOPLASTIC)	1293	\$6.60	LF	\$8,533.80	\$4.10	\$5,301.30	\$5.08	\$6,568.44	\$4.10	\$5,301.30	\$4.30	\$5,559.90
84	PARKING STRIPING (THERMOPLASTIC)	1921	\$1.00	LF	\$1,921.00	\$2.40	\$4,610.40	\$5.89	\$11,314.69	\$2.40	\$4,610.40	\$2.50	\$4,802.50
85	PAVEMENT MARKINGS (THERMOPLASTIC)	4704	\$8.50	SF	\$39,984.00	\$5.90	\$27,753.60	\$8.75	\$41,160.00	\$5.90	\$27,753.60	\$6.25	\$29,400.00

Project ID: RDC0016147 Bids Opened: 4/12/2022 Project Manager: Robert Vitug n/a

			Engineer's Estimate		(1) Excel Paving Company		(2) Toro Enterprises, Inc.		(3) Sully-Miller Contracting Company		(4) All American Asphalt		
(1) Pre	eliminary Bid Amount			\$9,634,240.74		\$9,692,759.07		\$9,780,000.00		\$9,984,768.53			
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
86	BICYCLE PAVEMENT MARKING ON GREEN BACKGROUND	21	\$11.00	SF	\$231.00	\$25.00	\$525.00	\$22.60	\$474.60	\$25.00	\$525.00	\$26.00	\$546.00
87	CURB MARKINGS (ONE- COAT PAINT)	16	\$5.00	LF	\$80.00	\$5.00	\$80.00	\$8.86	\$141.76	\$5.00	\$80.00	\$5.30	\$84.80
88	REMOVE STRIPING (THERMOPLASTIC)	1704	\$3.90	LF	\$6,645.60	\$2.05	\$3,493.20	\$3.94	\$6,713.76	\$2.05	\$3,493.20	\$2.15	\$3,663.60
89	REMOVE PAVEMENT MARKINGS (THERMOPLASTIC)	338	\$5.00	SF	\$1,690.00	\$3.65	\$1,233.70	\$9.73	\$3,288.74	\$3.65	\$1,233.70	\$3.85	\$1,301.30
90	SIGN PANEL	108	\$191.00	EA	\$20,628.00	\$115.00	\$12,420.00	\$181.84	\$19,638.72	\$115.00	\$12,420.00	\$120.00	\$12,960.00
91	SIGN POST (ROADSIDE SIGN)	40	\$265.00	EA	\$10,600.00	\$165.00	\$6,600.00	\$161.14	\$6,445.60	\$165.00	\$6,600.00	\$175.00	\$7,000.00
92	RELOCATE SIGN	23	\$150.00	EA	\$3,450.00	\$44.00	\$1,012.00	\$161.19	\$3,707.37	\$300.00	\$6,900.00	\$50.00	\$1,150.00
93	TRAFFIC CONTROL	1	\$260,000.00	LS	\$260,000.00	\$211,000.00	\$211,000.00	\$483,000.00	\$483,000.00	\$215,000.00	\$215,000.00	\$685,000.00	\$685,000.00
94	FLASHING ARROW SIGN	2	\$5,000.00	EA	\$10,000.00	\$6,000.00	\$12,000.00	\$11,460.00	\$22,920.00	\$10,000.00	\$20,000.00	\$4,750.00	\$9,500.00
95	CHANGEABLE MESSAGE SIGN	2	\$5,000.00	EA	\$10,000.00	\$9,000.00	\$18,000.00	\$19,100.00	\$38,200.00	\$20,000.00	\$40,000.00	\$12,500.00	\$25,000.00
96	TREE WELL AND COVER PER STD PLAN 519, TYPE 3	8	\$370.00	EA	\$2,960.00	\$600.00	\$4,800.00	\$5,210.00	\$41,680.00	\$2,500.00	\$20,000.00	\$1,100.00	\$8,800.00
97	DECOMPOSED GRANITE, 3" THICK	128	\$16.00	SF	\$2,048.00	\$5.00	\$640.00	\$20.50	\$2,624.00	\$11.00	\$1,408.00	\$6.00	\$768.00
98	FURNISH AND PLANT 24" BOX TREE	8	\$750.00	EA	\$6,000.00	\$900.00	\$7,200.00	\$635.00	\$5,080.00	\$880.00	\$7,040.00	\$950.00	\$7,600.00
Unit P	rice Total			\$	6,664,648.16		\$9,634,240.74		\$9,692,759.07	\$	9,780,000.00	;	\$9,984,768.53
(3) LS	BE/DVBE/SE Preference Amount						\$0.00		\$0.00		\$0.00		\$0.00
(4) LS	BE/DVBE/SE Adjusted Amount			\$9,634,240.74				4 \$9,692,759.07 \$9,780,000.00 \$9,					\$9,984,768.53
Comments						LOW BIDDER				,			